
かけ算のこたえ　をかきましょう。

1 × 4 = 6 × 2 =

7 × 3 = 4 × 6 =

9 × 5 = 2 × 7 =

8 × 9 = 7 × 8 =

3 × 1 = 5 × 7 =

　　　　の中に　あてはまる　かず　をかきましょう。　

6 × = 54 × 7 = 21

× 3 = 18 2 × = 10

9 × = 54 × 8 = 8

× 4 = 32 5 × = 10

4 × = 12 × 1 = 7
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かけ算のこたえ　をかきましょう。

1 × 4 = 4 6 × 2 = 12

7 × 3 = 21 4 × 6 = 24

9 × 5 = 45 2 × 7 = 14

8 × 9 = 72 7 × 8 = 56

3 × 1 = 3 5 × 7 = 35

　　　　の中に　あてはまる　かず　をかきましょう。　

6 × 9 = 54 3 × 7 = 21

6 × 3 = 18 2 × 5 = 10

9 × 6 = 54 1 × 8 = 8

8 × 4 = 32 5 × 2 = 10

4 × 3 = 12 7 × 1 = 7

こ た えかけざん れんしゅう 4
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